CORRECTION CM1 EX2ET 3 p 119

Exercice 2 p 119 voir feuille a carreaux pour les divisions posées
a.648=(7x92)+4

b.96=6x16

€c.2075=(9x%x230)+5

d. 807 =3 x 269

Exercice 3 p 119

Répertoire de 45

45x 1 =45 450 4500

45 %2 =90 900 9 000

45x3 =135 1350 13 500
45 x4 =180 1800 18 000
45 x5 =225 2250 22 500
45x 6 =270 2700 27 000
45 x7 =315 3150 31500
45 x 8 =360 3600 36 000
45 x 9 =405 4 050 40 500

a.424=(45x%9)+ 19
b.7312 =(45x 162) + 22
c. 1617 = (45 x 35) + 42

d. 80 925 = (45 x 1 798) + 15



